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o tisto] /DAB = x, ZADB =y, /DEC = ¢
gt o, s F A 22 A2

@® siny =sinz @ tany = tanz

® tanx = CE @ cosz =sinx
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4. sin 0° X tan 0° — cos 0° 2] ZF& A, sin90° x cos 90° + tan 0° 2] <

Bt & o B-A 9] gk2?
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@ sinx > cosx

@ cosx > tanx

@)sinx o) Augre 101,

@ tanx9] HAGL 101k,

® x9| Ftol AAH cosx | F= AL,

~&B

D sin0° < cos0°

@ cos60° < tan 60 °

@ tanx o] A2 glct.

® x 9] gtol AAHA cosx 2] g2 Zropxitt.
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sinAcosA 9 27 (F,0°<A<90°)

O] @?

DN | =
®)
| =

V3
Ohs

~&B

x*=3=0 °f|A
=3, . x=V3( x>0)
tanA = V3, . A=60°(-0°<A<90°)

V3 1

sin A cos A = sin60° X cos 60° = - X 5=

V3
4




7.

e 1

\VARR 4
0
it

~&B

R
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13. o= EE o]&st
(tan44° + cos 46 ° — 2sin 45 °) x 10000 2] g o=t

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 @ 967 ® 1760 @2462 ® 3240

B

tan44° = 0.9657

c0s 46 ° = 0.6947

sin45° = 0.7071

o (tan44° + cos 46 ° — 2sin 45 °) x 10000

= {0.9657 +0.6947 — (2 x 0.7071)} X 10000
= (1.6604 — 1.4142) x 10000 = 2462
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Zte sin cos tan

10° 0.1736 | 0.9848 0.1763

20° 0.3420 | 0.9397 0.3640

35° 0.5736 | 0.8192 0.7002

45° 0.7071 | 0.7071 1.0000
® 0.6225 @ 0.8112 @0.8264
@ 0.8437 ® 1.1736

Folxl Jol| A 7hg 22 -2 sin10° = 0.1736 , 71 & g2
tan45° =1
c.tan45° —sin 10° = 0.8264
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o7t 2ol LA =60°,AC =12, AB =
154 o, BC 2] do]&?

® Vo @2va1 @)s3va
@ 4V21 B 5+21

~&B

o CH_ 3
sin 60 2327
. CH=6V3
(:0560°=E=1
12 2
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. BC = 1/92 + (6V3)2

= 81 + 108 = V189
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19. \/(cosA—sinA)2 + \/(sinA—|—cosA)2 = V3 ¥ o, tanA 9] S
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45° < A < 90°9 A sinA > cosA > 0°| 22
(£4]) = —(cosA —sinA) + (sinA + cos A)
=2sinA = V3
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g4 (phztd|e| ®)
A(1,2.14)
1 T sin z| cos z | tan =
C
63° | 0.89]0.45 | 1.96
64° | 0.90| 0,44 | 2.05
65° 1 0.90] 0.42 | 2.14
0 D B(1,0) g6 | 091|041 225
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OB=1, AB=214
(AOB = x & & of,

tanx = 2 =214 9]B 2 x = 65°
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o] ], OC =1 °]E=Z CD = OC x sin 65° = 0.90
w2hA] 100 x CD = 90 ©|t}.




